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1. What is the question of the paper?
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2. Why should we care about it?
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3. What is the authors’ answer?
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How did the authors get there?
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Notations

ie {b, m,s} : To denote construction, manufactures, and services sectors, respectively.
ki: Capital used in sector ie {b, m,s} atdate t.
n,: Labor used in sector ie {b, m,s} at date t.

X, = K¢ (z,n, )179' ¢ Production technology of intermediates X, atdate t.Where € denote the different

capital intensities in these sectors and z;, denotes the sector-specific productivity shocks.

4 . PR . . .
z,=(logz,,logz,,logz,) Denote sector-specific productivity shocks in intermediate technology and follows an

autoregressive process: Z,,, =Bz, +¢,,.

1-n
U(cy.hy)= % The utility of an entrepreneur (also an consumer) in sector i in period t derives from
consumption ¢, and housing owned h, .
v, <f<l: 7, 1is entrepreneurs’ discount factor and S is the discount factor of households.
P, : The price of intermediate i; p,,: The price of housing

&, : The period-t debt; R _,;:The gross interest rate; W, : The wage.
je{c,d}: Where ¢ used to index consumption/investment goods and d  to index residential goods.

1oty —cty

¥;i: The output produced in final-good sector je{c,d} with technology y, =b'm{"s;
Y = XoXi?: The technology of residential houses, where X, is the quantity of land purchased and X, is the

quantity of new residential structures bought by the real estate developer.

[Ct% h* (1— n, )17:c ~tn :|1_0.

l-o

U(c,h,1-n)= Period utility per household at date t.

Example:
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